445 |

~
L
-

0'00T | S0 €€ 6'T 6'T 6'T P'ET 0T S0 8'v L'S L'l v'eT 7’81 8°9¢ (%) F7%E
60¢ T L 14 14 14 8¢ [4 T 0T 45 9T 9¢ 8¢ 9s (Y) BI¥opnys
LT T T 0 T 0 S 0 0 T T T 4 4 8 NG HREr T
z8 0 T T 0 € v 4 0 S L L 6 €1 0¢ HE
00T 0 S € € T 6 0 T 14 4 8 €1 114 8¢ =r3]
e v | me-wE |sns selwoe - vew| ey |wzems | wes |voowsm|EmE g v | wma | 050 |wesows|wwerows &R
(B2FYE) MEMIEBEENEE (€)
€8 TS¢ T0E 42
5'z8 (23 v ST
908 80T PET HEy
998 01T LTT =53
(%) (YV)E2Rd (Y)2E L X
WM RE (2)
Tt €6/ v'e8 9s €GT 60¢ 8T €ee 162 L ¥6¢ T0€ =
L9 G'z8 7'68 v 98 01T 9 81T 2T Y b7 65T 12
00 7's8 'S8 4 LT 6T 0 jord jard 0 LT LT NG
L'6 6L 6'88 8 9z ve v 47 ov 8V €S St e 7
6'9 T'+8 016 vT £ LS 8 €S 19 1% €9 /9 =3
(44 474 v'8L 143 L9 66 4" GTT LTT 11 16T 291 2
LLY 9'¢8 6'9L T L 8 v 1T 0T 0 €T €T NG
a3 0L v'9sL 6T 62 8t v S 89 ST v 68 Y s
9'¢ 1'8L L'18 4! 1€ £p Vv 0S 67 Y 9 09 =3
Hoo (a/a)=(H) | (v/2)=(2) 4-3 €)) () a-5 (@) (o)) a-v (9) (v)
F40207 | HHTC0T E50207 | ET1202 B$0207 | BHT0e B450207 | HHTe0e &%
(%) =M (Y) BI¥EhG c (Y) BId (Y) BELEE
(EN O HEREIF40) WAEYE - R (T)
(YL WOx © YS I%EFER) Y9 WO —
{_| Y 8 {4 v
(Yo BBELEFUEY ) YT BHEELH ,4
Y10e  mmwww| _
(YepTx ‘Y991 FEHST © YT & FEHIN) _ Y 60€ BRLLFEYN
Y 81¢ HUNHY
TWHOEH6HTC0T g £ T
M EMBFELLZ) - FEEEXTITHE FHFT0C




